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6.4 Slope-Intercept Form of the

Equation for a Linear Function

LESSON FOCUS Relate: the: graph ofa linear function to its
equation in slope-intercept form.

Make Connections

. . . Graph of a Bicycle Journey
This graph shows a cyclist’s journey where the

distance is measured from her home.

[==]

What does the vertical intercept represent?
What does the slope of the line represent?
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How do you know this is the
graph of a linear function?

What does the slope of the graph
represent?
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Write an equation to describe this function.
Verify that your equation is correct.
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In Chapter 5, Lesson 5.6, we described a linear function in different ways.
The linear function below represents the cost of a car rental.

Car Rental Costs An equation of the function is:
c C=0.20d + 60

The number 0.20 is the rate of change, or
the slope of the graph. This is the cost in
dollars for each additional 1 km driven.
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The number 60 is 7
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In general, any linear function can be described in slope-intercept form.

Slope-Intercept Form of the Equation of
a Linear Function

The equation of a linear function can be y P
written in the form y = mx + b, where m is Foperisor
the slope of the line and b is its y-intercept. 0, B Ay =mx+ b
X
) 0
r
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7
Writing an Equation of a Linear Function
Given Its Slope and y-Intercept

The graph of a linear function has slope% and y-intercept —4.
—_—— ﬁ

Write an equation for this function.

}) — mx+b

1. The graph of a linear function

7 ="
has shp;_—_g and y-intercept 3. y "‘.SX"’ g
Write an equation for this
function.
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Graphing a Linear Function Given Its
Equation in Slope-Intercept Form

1
Graph the linear function with equation: y = X+ 3

X M=! [=7]
SR <
‘Irf

LZ
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Writing the Equation of a Linear Function
Given Its Graph

Write an equation to describe this function. ¥
Verify the equation.

y=3="Y :

HJ

3. Write an equation to describe this
function. Verify the equation.

¥

A
4

¥ ard d. = dx—
33— ek 7[5

> |

n=gk)

b= -3
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Using an Equation of a Linear Function to
Example 4
Solve a Problem

The student council sponsored a dance. A ticket cost $5 and the
cost for the DJ was $300.

a) Write an equation for the profit, P dollars, on the sale of t tickets.
S—

b) Suppose 123 people bought tickets. What was the profit?

¢) Suppose the profit was $350. How many people bought tickets?

d) Could the profit be exactly $1467 Justify the answer.
@) P=g¢-300 @ 350=St-30n
(v - 530:33—3 0 G27SC

S
€= )30

6.4 Slope-Intercept Form of the Equation for a Linear Function

J46=S¢-300

44~ 5¢
S S
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Slope - Y Intercept Form

e is of the form... , Where m is the slope
b is the y intercept

» if you are given m and b, then you can get the equation of the line.

ex: Determine the slope and y-intercept of the following line.

3-.: nv.*\o
32y - 1)=-2(x + 5)

¢ 3 =d== k=[O ')(—I.d

63- ~m—/o+3

__\6-- ~Ix-"/ = ‘03
S’@Qz‘,& 6 T tkl

ex: sketch the line that passes through the points (3, -4) & (0, 4)

« Determine the equation of this line

§Int:
M= GGH
s

11



1ading Ui Lyguduoll U1 4 L1110

Method #1: Slope - Y Intercept Method

y=mx-+b

Need: (1) the slope & (2) the y-intercept

Example... Determine the equation of a line that passes through the

point (0, -5) and is perpendicular to the line 2x + 3y = 6.

p==S .5“3>< *Q

--)
Mt} y )‘if\Z
= M:-g
3
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Practice Problems...

Page 362 - 363
#4,5,6,8,9, 11,12, 17,18, 19, 21, 22, 23, 24

13
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